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B.Sc./B.Com./BBA/BCA/BBA(TAH)/B.Voc./BSW 1st Semester Examination, 2023

ENVIRONMENTAL STUDIES

AECC-1
Time Allotted: 2 Hours 30 Minutes Full Marks: 80

The figures in the margin indicate full marks.

( Instruction ]

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O@ O O Wrong Method: % J®©
Answer all questions 1x80 =80
FT 2THA Ted wie
e TAEGDT STR AETEN
I. Which of these are essential non-metallic minerals?
(A) Coal, Silica, Clay, Cement (B) Iron, Copper, Aluminium, Zinc
(C) Gold, Platinum, Silver (D) Granite, Limestone, Marble
fsfrfResfem s @m seified srige 4f e 9
(A) e, Filersl, S, Fers (B) (5111, O, Syiefaifri, vl
(C) GTieTl, &for, ol (D) &IIZB, peI=ee, TcdeT
(A) DT, IR, ATe, Rmee (B) W, e, Qoo s
(C) g, wernfefas, =it (D) IFTSE, YT UeoR, TR
2. In which of these following can we find Brackish Water Ecosystem?
(A) Wetland (B) Streams (C) Deltas (D) Coastal Shallows
NEF FHOCe ST ((NIGTETH IAFoF MATS 247 2
(A) TETefy (B) &g (C) 3-a1% (D) RS- S26a
fFTeTRET o™ IRT (Ffreth) STt TR Rerforeh! o T
(A) 3R (B) w8 (C) e (D) Fr ¥
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3. Renewable source of energy is
(A) Coal (B) Petroleum (C) Plants (D) Uranium
AR *ifeq T 6 9
(A) FT (B) CoicGiferais (C) aMoifi (D) TSN
AT 3T&RT AT & & 2
(A) Prse (B) gferar (C) S&f= (D) T
4. Full form of CNG is
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
.99, f&-a31 75y o1 5 9
(A) FIEe SIS #1157 (B) KFb® 2o 2017
(C) A= AFFSE aiyi (D) AoIT® AIFFoF i
7.0 K. 1 U Y oeE g
(A) AT ST =T (B) oS vrepferes =Ry
(C) AT ATepfcieh =R (D) YHTIOIe STepfcies =T
5. How many total numbers of biodiversity hotspots are there in India?
(A)8 (B)4 ©5 D)7
S0 (NG T GIRADCATH 20, ~{6 S163 TR 2
(A)8 (B) 4 ©)5 D)7
IR S fAITTRT SCHUC-PT ol AT DT B ?
(A)8 (B)4 ©5 D)7
6. Which of the following problems is not created by noise pollution?
(A) Diarrhoea (B) Hypertension (C) Deafness (D) Irritation
TR I T >Rl TR 38 2 1 9
(A) SR (B) THebIo (ORIEEN) (D) gl
TR eTerTfe Earfe SuUTeT SHRUT FHRAT I~ garl
(A) TG (B) ST IhaTg (C) IR (D) farsfersmaT
7. Which of these are also known as Detrivores?
(A) Decomposers (B) Carnivores (C) Herbivores (D) None of these
T (1= cefbieram wics #(fbe ¢
(A) #5TE /TG (B) SRR (C) SeTe& (D) 02
foreTere) eTeITfe STURETERT (fAmTereRY) T woHT fRfre
(A) ST JECH (B) AR (C) 9TPTERT (D) 1 U 8IS
8. Maximum amount of gas found in air is
(A) Oxygen (B) Carbon dioxide  (C) Hydrogen (D) Nitrogen
ST (@ A1 IR ~Hfariel “Ahet AR o 2
(A) e (B) FHA-TiR-w@iRe  (C) R0ee (D) TRCBICE
ITHT SATRBHTAHT T T &,
(A) 3PS (B) PrEA-S3-3frass  (C) BISIoH (D) TSI
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9.

10.

11.

12.

13.

14.
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Sustainable development goals have specific targets to be achieved by

(A) 2022 (B) 2030 (C) 2040 (D) 2050
oM AT eI S Wil 3 34l 2e

(A) 2022 (B) 2030 (C) 2040 (D) 2050
fereReert faepTereht UTfHient T faIfire e1er ATfvenT g

(A) 2022 (B) 2030 (C) 2040 (D) 2050
Full form of IPM is

(A) Industrial Pest Management
(C) Intermediate Pest Management
IPM-93 7 %l 5 9

(A) Industrial Pest Management

(C) Intermediate Pest Management

3o Uto o T YU ST P &

(A) e dred Tser

(C) TeTsd! UIgd veve
Chernobyl accident occured on
(A) April 26, 1986

(C) December 1, 1938

(B) Inorganic Pest Management

(D) Integrated Pest Management

(B) Inorganic Pest Management

(D) Integrated Pest Management

(B) 3Tl s Uawer
(D) Herfed disd uae

(B) June 25, 1984
(D) November 16, 1986

(BT 1o TC507
(A) 26 «fete], 1986
RISl GHEHT Bl &,

(B) 25 &, 1984 (C) 17, foe3, 1938 (D) 16 2 o4, 1986

(A) 26 3 1986 (B) 25 97 1984 (C) 1 iegweR 1938 (D) 16 FawR 1986
In case of a parasitic food chain, the shape of the pyramid of number is always

(A) Upright (B) Linear (C) Inverted (D) Not Certain
G ARG AP (T, 9 SNPTS TR PRI 77 7= 27

(A) QIS (B) @i (C) &It (D) e

(A) I (B) W& (C) Jear (D) Ffya g
Which of the following is one of the best solutions to get rid of non-biodigradable water is?
(A) Recycling waste  (B) Burying waste (C) Burning waste (D) All of these
SR (FH-Crares) T8 (A “ifkaiel (vice e @i smisb FRwe wke ¢
(A) TE2IRIA (B) &1 @ Cel (C) T Coleical (D) S
R-RAETST TTE BT FHRITEIC FTeepT Fd <9 ST P &l

(A) 3UTAE TWTEATS Ur: AT T (B) 3{Ufire @ieeflg TS

(C) 3FUfIE WIS STeflS (D) & g

Pick up the correct food chain
(A) grass — chameleon — insect — bird (B) grass — fox — rabbit — bird

(C) phytoplankton — zooplankton — fish (D) fallen leaves — bacteria — insect larvae

3 Turn Over



UG/CBCS/B.Sc./B.Com./BBA/BCA/BBA(TAH)/B.Voc./BSW/1st Sem./Environmental Studiessf AECCENVS/2023

15.

16.

17.

18.

19.
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AT Qe ARiE F9
(A) T BRET — AFI— A (B) - MR LR A
(C) FIZBIZIFTI— G ANFG—> AT (D) &S #fel— FFGRA— (TR et
T SIS IS HUHT TSI,
(A) BNT— BURI—> fdRT— TRT (B) ERT— HTeT—> TRIAT—TRT
(C) UTSY Telaeb— J Teiebed—> HTST (D) ST YTTE0—> SATFCINAT —>ATHehRT
What percent of area in the plain should be underforest?
(A)21% (B) 25% (©) 17% (D) 33%
IS F© *OR*! GFIP I I B 9
(A)21% (B) 25% (©) 17% (D) 33%
HCTCTeT el TfTL & I JTciid USs
(A)21% (B) 25% (©) 17% (D) 33%
Which one of the following pairs is correctly matched?
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
o3 @I @I FAIFSIE FES 9
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
(A) Biosphere — Eduard Suess (B) Ecosystem — A.P. de Candolle
(C) Ecology — A.G. Tansley (D) Biodiversity — Reiter
Upper part of sea / aquatic ecosystem contains
(A) plankton (B) nekton
(C) plankton and nekton (D) benthos
Y / CETS AEOCE SRR SR AR
(A) 2IEs (B) (0 (C) 2FG GR (7F6 (D) ([C=A
S AT I W/ STt TR G e
(A) wide (B) Ade (C) WipeT i saeT (D) =
The Environment Protection Act was enacted in which of the following years?
(A) 1980 (B) 1986 (C) 2001 (D) 2010
AR 37 @2 (Environment Protection Act) (e I23 2/ah® 23 ¢
(A) Sdbo (B) 3 v (C)Ro05 (D) x0%0
qITaROT ERE0T AR et FrAferRact aTerry TRTeT forg
(A) 1980 (B) 1986 (C) 2001 (D) 2010
Which one of the following is an example of in-situ conservation of biodiversity?
(A) Captive Breeding (B) Seed Bank (C) National Park (D) Pollen Bank
e I(b G17 (Aiotara 24-F1F (in-situ) TR Swiggel 9
(A) I 2 (B) & k> (C) &SI Wi (D) #R&io FRF
fereTfetRRecT Hed rrenfe Sta-fafeeerent (in-situ conservation) S&TERUI &1
(A) T IS (B) #i5T §@ (C) AfSeT e (D) RITH
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20.

21.

22.

23.

24.

25.
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Cultural environment refers to

(A) Mountains (B) Man-made environment

(C) Wild environment (D) Marine environment

ARFIST (= FW0e @RI —

(A) #deET (B) W7 AR (C) 77 ffdic (D) fuss e
R fcreh TRET bl Fee™f &,

(A) gad (B) A9a MA@ uRkaer  (C) Sirelt ararexor (D) T giRaer
The flow of energy in the ecosystem is

(A) Multidirectional ~ (B) Bidirectional (C) Cyclic (D) Unidirectional
e *fed @72 28

(A) IZ3 (B) fasd (C) b&FeIE (D) @93
qIRRAfCTT T=HT ItTehT aTe &7

(A) Fgfaer (B) fafer (C) TshiT (D) fEemé=

The acceptable pH level of potable or drinking water is

(A)9.5-10.5 (B)6.5-8.5 (C)7.5-95 (D)55-175
AN SR QAN pH Gl 23

(A) 5.€-50.¢ (B) v.¢-v.¢ (0)a.¢-5.¢ (D) €.€-4.¢

g STeTehl pH &R §76

(A)9.5-10.5 (B)6.5-8.5 (C)7.5-95 (D)55-175

The atmospheric layer from the surface of earth up to 18 km is known as

(A) Troposphere (B) Stratosphere (C) Mesosphere (D) Ionosphere
-7 (AT 18 B +1fe argwedin w1 F wiw «ififos ¢
(A) TeefiFeaig (B) Bistfre (C) G (D) S
gediehT eTgdIe 18 km HIRrehT qRIHTS AT WiReTls o Mol fafire
(A) SRR (B) TCTRURR (C) AHRHIR (D) SRAFRIR
Through which layer of thermosphere jet planes fly?
(A) Troposphere (B) Stratosphere (C) Ionosphere (D) Mesosphere
QTR i B e (oG (alel €T 9
(A) Tl (B) BIGiFFaE (C) SRt (D) Giee=
S RERIREPT G+ URCIPT HIETH SIC 7! IS &6
(A) TURHIR (B) TR (C) SRR (D) HERHIR
Amoebiasis is caused by
(A) Protozoa (B) Helminths (Worms)
(C) Bacteria (D) None of them
SRR =Rl 98 23
(A) @ISl (B) cze1fs= (F) (C) TR (D) @t7d (52 7
ST EATEhT BIRUT &T;
(A) HheTTaT (B) femr (C) Sftaroy (D) g a8
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27.

28.

29.

30.

31.
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What is the end product of nitrification?

(A) NO, (B) NHs-—N (C)NO; (D) None of them
BRI ormfoq wfew o ¢

(A)NO, (B) NH,~N (C) NOs (D) @b T
ATSCIfthera B 31fec IUTE & & 2

(A) NO, (B) NH,N (C) NO; (D) g1 T 8
What are the components of ‘SIAL’ layer?

(A) Siand Al (B) S and Al (C) I and Al (D) None of them
‘SIAL’ B(FF Soimiwa el F H 9

(A) Si and Al (B) S and Al (C) I, and Al (D) PIbE 7
‘SIAL’ ORI 3fadd & b g

(A) Siv Al (B) STAI (C) LYAl (D) WT@@%‘T
The yellowness of the Taj Mahal is an effect of —

(A) Acid Rain (B) Allergens (C) Ozone depletion (D) None of these
OITTNR(ER ENOlF 2O &I & 2

(A) SriTe 32 (B) SIS (C) ST&I= 4 (D) @2
ST Ggelt-ichl THTdehT BRI &

(A) 3T 8T (B) TeToitese (C) AT RercfieRer (D) P Blgd

The uses of CFCs are

(A) Insulators (B) Aerosol propellants

(C) Refrigerants (D) All of these

CFC-99 Qa2 =

(A) ST (B) SHIEPTE (@I (C) @RF&IED (D) wRfel
CFCs-3T ST &

(A) FTIARED (B) Rl diiere  (C) ¥hRReea (D) T ET

The mosquito repellent that is used in the homes in the form of a coil, liquids etc. are

(A) Sedatives (B) Pesticide (C) Insecticide (D) Fertilizers
T, O I TP T (T e <=1 el o 7

(A) GITESH, (B) oA (C) AT (D) AR

HOBR WTSDT AT ERAT SRINT TR ST (coil) TAT TR (liquids) TS TaTel &7

(A) qHD (B) dlcA1eH (C) for—mTeT®H (D) IR

CPCB stands for —

(A) Control Pollution Control Board
(C) Control Pollution Central Board
CPCB &g It

(A) Control Pollution Control Board
(C) Control Pollution Central Board

(B) Central Pollution Central Board
(D) Central Pollution Control Board

(B) Central Pollution Central Board
(D) Central Pollution Control Board
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CPCB H=Tel
(A) Control Pollution Control Board (B) Central Pollution Central Board
(C) Control Pollution Central Board (D) Central Pollution Control Board
32. Which of the following state in India is called the ‘Tiger State’?
(A) Andhra Pradesh  (B) Madhya Pradesh (C) Assam (D) Gujrat
(A) ST (B) segeivest (C) =P (D) weRlb
YRIPT P ISTATS ‘TIFR ¥ WA 2
(A) 315 TeeT (B) 7T U9 (C) 3ma™ (D) ORI
33.  On which day the world environment day is celebrated?
(A) 5th April (B) 25th May (C) 5th June (D) 25th April
o =ifdc faeer e fw #ifere =3 2
(A) €3 @fere (B) &I G (C) €2 T (D) 3¢ % @fes
ferey qarfaror feaw e fog AeTs
(A) 5 39T (B) 25 78 (C) 59 (D) 25 31T
34. WWEF stands for —
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
WWEF &3 5~ 7ot f 9
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
WWF &7 J0] U §75
(A) World Water Forum (B) World Wide Fund For Nature
(C) World Wildlife Fund (D) World War Fund
35. Asiatic Lion is found in —
(A) Manas (B) Kaziranga (C) Gir Forest (D) Sunderbans
@I P (e #eat A —
(A) T (B) Siferel (C) Tota =reey (D) e
(A) F7 (B) SIS (C) iR agRUY (D) gra=ad
36.  Earthquake is measured by —
(A) Barometer (B) Cardiograph (C) Seismograph (D) Electrograph
SRR Sigel #fiel Tl 23 FeR AR ¢
(A) IRIEOR (B) ¥ saiw (C) Frcsiare (D) T
e HIG TR T &1,
(A) IRIfTER (B) wifSamms (C) Rrmmms (D) SIFCHITH
37. Ramsar Convention is related to —
(A) Desert (B) Wetland (C) Agricultural land (D) Forest land
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AR FACTEA P oIS 9
(A) T=Fgfil (B) &t (C) gl (D) SRergf
YHRIR e~ G 8 &
(A) oo (B) ST (C) Py (D) T
38.  Rain water harvesting is a major method implemented for —
(A) Water Conservation (B) Soil Conservation
(C) Forest Conservation (D) Ecosystem Conservation
1831 & IR G SO 2« IR AES ZeT —
(A) T FRTH (B) Y& sz (C) =6l HF (D) ArGOF T
NPT STeT YT AT R U SIS fafer
(A) STeT TRET (B) ¥ &=emr (C) S =& (D) uTiRRe2rfereht Remor
39.  Which of the following is Secondary air pollutant?
(A) CO; (B) CO (©) O3 (D) SO
feesa iefb (Mol IR 9
(A) CO, (B) CO (©) O3 (D) SO,
fefeTReet gpererfe ferciar amg Sgwep &
(A) CO; (B) CO (©) O3 (D) SO
40.  Both power and manure are provided by
(A) Thermal power plant (B) Nuclear plant
(C) Biogas plant (D) Hydroelectric plant
*f& R M TR &wi
(A) Sli7iie Teofine (T (B) i *Ife Tesme (e
(C) T&R 571 T (e (D) SRS Tesiive (T
ST 3 WIS (Hel) G UG &b GRT TR
(A) SHAURTI  (B) freraR G~ (C) SRIIRT FI (D) B ISelded T
41. Which city of the world has been tagged as ‘zero water’ or ‘waterless city’ in 2018?
(A) Capetown (B) Jodhpur (C) Nirobi (D) Khartoum
089 I =220 2051 T Ty *1zq BN 1o T 2few ¢
(A) (51w (B) @77 (OEIEGIIS (D) AW
ARDT T TERCATS T 201 8 HT ‘YrASTeT AT STeAIEIT e’ el AT gl ?
(A) $ICTST (B) STHg (C) Rt (D) B
42. The target ‘Green House Gas’ emission was an outcome of the international conference at
(A) Stockholm (B) Kyoto (C) Paris (D) Rio-de-Janeiro
ENeT=IT 91T FICS] Ty (F ST 6 < FCHTAIG 2C3If2e of 25
(A) IR (B) [Fieo1 (C) =inife™ (D) fFe-fo-cetafas
P BT IR ISP TFCRRISE T AT YRUT HFI—~ eI forg
(A) TTTHET (B) Farer (C) IR« (D) RAN-fS-oF =Y
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43.  Noise is measured using sound meter and unit is
(A) Hertz (B) Decibel (C) Joule (D) Watt
* 2ok G =
(A) Hertz (B) Decibel (C) Joule (D) Watt
&1 HTIeT SR T TR fHeR R UapTg g
(A) &1 (B) SR¥det (C) Sttt (D) arc
44, All forms of water that comes down on Earth, including rain, snow, hail etc. is known as
(A) Calcification (B) Fixation (C) Precipitation (D) Accumulation
Feeire, gameite, feRfE 2o Fel G-+ #fos Siem e I =¥
(A) Calcification (B) Fixation (C) Precipitation (D) Accumulation
(A) Tt (B) fOheria (C) WRFfUCHT (D) 3P
45.  Which of the food chain directly depends upon solar radiation?
(A) Predators (B) Grazing (C) Detritus (D) All of these
CTaEa B9l ST FOIE (@I AW-XeH (6 freaaie ¢
(A) Predators (B) Grazing (C) Detritus (D) All of these
PTG TTeT YT Aret AN Aoy 71 fFR &=
(A) Predators (B) Grazing (C) Detritus (D) HT@RBN:I?TE
46. The ‘Earth Summit’ was held in the year
(A) 1992 (B) 1990 (C) 1989 (D) 2001
YA ACTAAD ZCARE (I AICE 9
(A) 1992 (B) 1990 (C) 1989 (D) 2001
Iy ARGR T (Earth Summit) Hfeel T80T uat fRrY 2
(A) 1992 (B) 1990 (C) 1989 (D) 2001
47. The source of energy in Ecosystem is
(A) ATP (B) Sunlight (C) DNA (D) RNA
T *feq T 28
(A) ATP (4.15.f) (B) Clizife (C) T©.97.9 (D) ®I%.94.4
qIRRAfCTT =M1 SStienT Al &
(A) ATP (B) Sunlight (C) DNA (D) RNA
48. The National Environment Research Institute is located at
(A) Dehradun (B) Jaipur (C) New Delhi (D) Nagpur
“ferg AR 2l (= (b (IR =S 9
(A) ORI (B) TR (C) e fdh (D) Wt
R GATERUT ST G SR &
(A) dERIgT (B) SRR (C) Tt ety (D) TR
49. Smog is a mixture of
(A) Smoke and Fog (B) Snow and Fog
(C) Snow and Dust (D) Sulphur dioxide and Fog
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caifeit famcorar foetel ¢
(A) it @3 =N (B) TF @3 FAM
(C) T O !l (D) TP IR SHZT (SO,) G FAXN
(A) gar 31 PR (B) 3 arfr pfeRr
(C) f&3 a1 gt (D) ATHREZIATATSS 3T PRI
50. Which of the following is not a fossil fuel?
(A) Diesel (B) Wood (C) Petrol (D) Coal
e (@40 @ SRR g < 9
(A) foreat (B) F1% (C) Co[Carat (D) T3
FrferRe et Shared e g
(A) feoier (B) @18 (C) eIt (D) Prsam
51.  Oxygen liberated during photosynthesis comes from
(A) Atmosphere (B) Water
(C) Carbon dioxide (D) Break down of chlorophyll
AT A Tty e T 27
(A) AT (B) && (C) FRA-TR-=FZT (D) IR vl
TIPS FHATUIEDT HehaTHT STeRAIS BHEIdIC I~ &0
(A) TgHTSS (B) STt (C) P SE 3RS (D) FARIBA I
52.  Which of the following disease is caused by air pollution?
(A) Arsenocosis (B) Black foot disease (C) Silicosis (D) Polio
-7 T (I NG =3 9
(A) SR (B) I=-go-Rfgw  (C) Fiferwifm (D) wiifers
fforae grrafe I a1g USHUrETe g TS
(A) Arsenocosis (B) Black foot disease (C) Silicosis (D) Polio
53. Amrita Devi Bishnoi sacrificed her life to the protection of
(A) Sal trees (B) Pine trees (C) Khejri trees (D) Alpine meadows
wrpel (r_t Ricel? & awiedl foea Saw Seotsf Seafece o
(A) *Iie 9l1” (B) “fi& oz (OYSETIRIE (D) Syier=iigs-fices
ST T f 8ISt SHTURT ST SfeTaT hebT TRETUTehT T e fRrg
(A) STeT g8 (B) gdier ger (OXcENEE (D) 3feurs gar
54. Aerosols consisting of solid particles produced by combustion
(A) Fog (B) Smog (C) Smoke (D) None of these
WA TRof GEAPTET (oA SAMAD 2
(A) T (B) xifae (C) it (D) 1 71
RIATeTgTh O HUIEs SETaRT caTad 578
(A) P (B) gat (C) srfire gt (D) P&
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55. A poisonous gas given out of a vehicle exhaust is
(A) Methane (B) Ethane (C) Carbon dioxide (D) Carbon monoxide
AR I g7 [Rare s 2=
(A) frces (B) Z&= (C) FHA-TR-SAEE (D) I NAHZG
UScT fauTh = Sl areae PR e
(A) fe= (B) 329 (C) PIE-SE-31ES (D) B AF TASS
56. Which out of the following are the causes of soil erosion?
(A) Unrestricted grazing (B) Deforestation
(C) Over cultivation (D) All of these
e (@I e FER & Wil 2
(A) TSR 21w5Fe  (B) SReiRe! (C) SfeTgE Teoimd (D) SRS (6
T geTerTfe I Tt (TeRT) BT PR &
(A) IffErT s TRTSTeT (B) & fa=rer
(C) 3t @Wicrarfer (D) & g
57. Red Data Book contains data of
(A) All plant species (B) All animal species
(C) Threatend species (D) Economically important species
Red Data Book 3l 7/f%® w2 @i e
(A) 77 Tfew 2 (B) % 2 2wl
(C) Tvm ewife (D) TLAST @7Pg 7~ eifs
‘Red Data Book’— AT STT Af+HfeTd B
(A) | IgFHESg Foffer (B) |9 9o
(O)ECINISEIENIIR] (D) 31fRies WUl Hecayul FraTfr
58. Which of the following regions has the maximum diversity ?
(A) Mangroves (B) Temparate forests (C) Taiga (D) Coral reefs
e @ S2ece FAfES T &fbay 57 w41 A 9
(A) et (B) G0 qizes1  (C) Cool (D) 2RleI-R171%&
[F=TE rrenTfe &R TR AT fafderdT arg—o
(A) RIFRY (B) ofiarsor a= & (C) T & (D) DR TgHEH
59.  Which of the following has the maximum genetic diversity in India?
(A) Mango (B) Teak (C) Wheat (D) Tea
fafeiiRe @i awifes S wifie sime Giere tafbay o= Tt T 9
(A) 3 (B) G (C) (D) ®l
freTfeTRac prrenfeaT srferher STefres fafrerr wReHT UTg~s
(A) 3T (B) T (©) g (D) forr
60. Ozone day is observed on
(A) 3" January (B) 16" September  (C) 10™ November (D) 26™ March
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“grers e #Alfere 2

(A) o7 SR (B) 3b 3 (B (C) s0 T =CeF (D) & 1 75
CINIERCCR R EIES T

(A) 3 SR (B) 16 fya+ar (C) 10 =R (D) 26 9/
Which of the following is not a potential adverse effect of global warming?

(A) More extreme weather pattern (B) Retreat of glaciers

(C) Heavy rainfall (D) An increase of UV-radiation

e (@D P SRR AR Fodd 2] 77 2

(A) DITORII SRE (B) feaices ~ororsel

(C) Srojias gfEsire (D) UV-ae Srefas Sestine

frfeTRacy gererfe wetaeT anfieT FATfe Hfcigper TrTdl 8l

(A) RTIRHSI ISR (B) ferat ufs a7 (C) srfcrgfe (D) UV- fafemor sgrer
What is used by plants for photosynthesis?

(A) Oz (B) CO; (O N, (D) Ar

TG ATIFICEE o) (P JIZ© 2 9

(A) Oz (B) CO; (O)N; (D) Ar
hTIRARANUT 7T I HSet & TRINT e

(A) O, (B) CO;, (O N2 (D) Ar

Radio waves are reflected back to the Earth from which of the following atmospheric level?
(A) Ionosphere (B) Exosphere (C) Thermosphere (D) Stratosphere
ARG (I B @GS et 2lfSRoTe 20 A B-#{0y R S ?

(A) SEAITFR= (B) atfEa= (C) ATfifeam (D) FNCIFFIa
ARIHUST I ICREPT G TTBATC ST AT Y HT e SRS

(A) SMFIRHIR (B) TR (C) MR (D) TR
Which bacteria are present in leguminous plant ?

(A) Frankia (B) Rhizobium (C) Pantoea (D) Acidovorax
NG Sema e (i P R SRS o7 1 T 9

(A) FifE (B) Aigceifas (C) <o (D) SHiReICSRIH
(A) Wi~ S RENIERE] (C) U=erT (D) TRIST™RET
Which of the following is a Water borne disease ?

(A) Dengue (B) Covid (C) Typhoid (D) Chicken Pox
e @b waiRe @i o

(A) (@5 (B) =ife® (C) DizFEe (D) fores 71
YIIETE &4 T ralfe 8l

(A) ST (B) PIfIS (C) TrehEs (D) fo v
Tehri dam is situated on the river of

(A) Narmada (B) Ganga (C) Yamuna (D) Bhagirathi
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(SCZA! M4 @I TR T2 SRS 9
(A) il (B) 1l (C) T (D) S
JEI 91T (Dam) 3TaReerd ua! et &
(A) TFHaT (B) T (C) I (D) s7iReft

67.  In which state, Bandipur National Park is located ?
(A) Rajasthan (B) Orissa (C) Assam (D) Karnataka
7T SO SvpI (i ST SRI%S 2
(A) AETE (B) efe= (C) =PI (D) 355
T ISTHT SR RIS I e B
(A) TS (B) Sfear (C) 3™ (D) Buricant

68. Animals living at the bottom of the sea are called
(A) Lotic (B) Lentic (C) Bentic (D) Pelagic
FHR CETHCH PRI 2NN el 23
(A) Lotic (B) Lentic (C) Bentic (D) Pelagic
TG Teell TEHT UTg UTUiielTs Wit
(A) elifee (B) cifFce (C) dfvcd (D) UeTTires

69. Ecotone is characterized by
(A) Forest ecosystem (B) Transition zone between two ecosystem
(C) Terrestrial ecosystem (D) Zone of transition between water and land
BHIOCE (AT
(A) SRR AT (B) 76 IS S| LT
(C) =T AEoT (D) T 3R ECER SKITS| ST
SIS e &5
(A) T qTRREIfCrehT TG (B) gEacT UTRRARbIc—TenT AgshHur &
(C) Tereft uiRRrerfadhia— (D) ST 3T et TS ehHT &

70. Biodegradable pollutant is
(A) Plastic (B) Wood (C) Asbestos (D) All of these
& [Reifen 73 2a
(A) 20555 (B) 19 (C) STAEBIA (D) RS
TSRS TG &
(A) wies (B) #I3 (C) TR (D) T ET

71. Where are the genes of rare plants species stored?
(A) Gene Bank (B) Gene Library (C) Seed Bank (D) None of these
et ererifox f&mes @It 7w 11 27
(A) &= 7= (B) e =nigfa (C) I& = (D) (02 7
(A) BT 8 (B) forT emgst (C) e & (D) g afT &1
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73.

74.

75.

76.

77.
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What is produced by the fusion and fission of the nucleus ?

(A) Hydroelectric (B) Thermal Power  (C) Solar Power (D) Nuclear Power
HefEFaIeR MaEes g Rares 9ib A Teviv 541 &

(A) TR (B) w7 (C) emeife (D) ~fnteefies
DT (nucleus) BT [T R fogTSEIE & IUTEH T

(A) STt (B) A fager (C) | 3wt (D) TR 21feh
Development but not at the cost of environment is called

(A) Sustainable development (B) Economic development

(C) Non-sustainable development (D) None of these

(A) TN Tmw (B) uffes Tmm  (C) W TIE (D) FFHE W
PR R T faRoT fRAFTeIhT JogmT BigaTs wiee

(A) Faq faaprer (B) 3Tfa foarT (C) 31fReR famrer (D) P Ul 81T
Which of the following is not a biome ?

(A) Tundra (B) Tropical Rain Forest

(C) Earth (D) Desert

e (@40 A w3 9

(A) 9@ (B) S@ety Iiest  (C) 7Rt (D) SREgf

PTaTfe 9119 (BIOME) 815

(A) st (B) SSUT e guig (C) gt (D) 7o4fH

Which of the following is not an abiotic condition?

(A) Water (B) Humidity (C) Temperature (D) Bacteria
e @0 SieR Sowie =71 2

(A) & (B) SI%e! (C) Tzeol (D) AR
P Rt Rearfer Bgm

(A) Sfef (B) TSkt (C) a9 (D) Sitamoy

Which of the following is not a problem directly associated with land?

(A) Water logging (B) Salinization (C) Desertification (D) Climate change
e @I S fim et s7vifde el 3 9

(A) SETES| (B) FReTGel (C) e (D) SRR -7 TS
frferRad prreTle e e uHT AR T e 67

(A) T ST (B) eAquliep=oT (C) FOFUAPRIT (D) Siefarg giRaei

Which of the following statement is incorrect about the Biosphere?

(A) Biosphere is a combination of lithosphere, hydrosphere and atmosphere
(B) Biosphere is missing at extreme of north and south pole

(C) Organisms are uniformly present in Biosphere

(D) All of the above
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e e Rt erest 717 ge 2

(A) GIRTGe 29 ETCIFFE, 2IZEIFrE @3k gTScer ik
(B) GG S7iHe T6d GR WiHER GRS

(C) G f[Kifen Gk uszelE Beifge AE

(D) Toitza FRafet
fATTeTRE T e SITHUS IR Tefd 7

(A) STHTSE TATHISH, TTHUSH 3T ARIHTSH GRT AT &
(B) StaHUSeT I 31 SFeuft gareht TR ST H SuRed ©

(C) SITHUSTHT SHq8% TehdHT HUHT SURLIT B

(D) H1forepT 9 &7

Full form of EIA is

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
EIA-&3 55l araifo & 9

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
EIA &7 q0f &9 & &

(A) Environmental Impact Assay

(C) Environmental Impact Assessment
HIV effected system is

(A) Immune system

(C) Nervous system

HIV (S 0&(F SEF@ (S ?

(A) @9 efotaged  (B) W32 ©F
HIV gRT o1fee qorred! g

(A) UfcRET yoTet! (B) H5TRUT YUTTeAT

Carrier of Plague disease

(A) Cat (B) Mouse
(R 2T =T

(A) Fgr (B) T
ol RITehT HelTE &,

(A) feRer (B) T
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(B) Environmental Interstate Act

(D) Environmental Indepth Analysis

(B) Environmental Interstate Act

(D) Environmental Indepth Analysis

(B) Environmental Interstate Act

(D) Environmental Indepth Analysis

(B) Circulatory system
(D) Digestive system

(C) Wrgeg (D) “AfReliFeg

(C) Tf~eT HorTed (D) 9 JoTTet

(C) Mosquito (D) Both (A) & (B)
(C) 3t (D) (A) &% (B) Te32
(C) F=BR (D) (A) 31 (B)

X




